AHIIHICKUI A3BIK 10-11 knaccenl
Bpemsi BbInoJiHenusi 3aganuii: 120 MuHyT

Kpome oTBeTOB Ha BONIPOCHI B padoTe He J0JIKHO ObITh HUKAKHX IOMETOK.

BHUMAHMHE!
3ananue Kk 010Ky «IIMCBbMEHHAS PEUb» npuBeeHo HA 1ONOJHUTEIbHOM JIMCTE.
TpeOyiiTe BbIZauM TOMOJHUTEIBHOI0 JIUCTA ¢ TEKCTOM 3aJaHus K 010Ky «Ilucbmennas
peyYb)» y OpraHu3aToOpoB B ayJUTOPHM.

AYIAUPOBAHUE

Baganusa 1-5. Ilpocaymiaiite Tekct. B Tabmuie Hibke mnpemioxensl 3aroyioBku (A-E).
Pacnonoxure npeuioKeHHbIe 3ar0JIOBKH B TOM MOCIEA0BATEIbHOCTH, B KOTOPOI 3ByYaT 4acTH
TEKCTa, KOTOPBIE MOTYT OBITh TaK O3arjaBJICHEIL.

B Ouanke orBera ais BompocoB 1-5 o0Benute OykBbl (A-E), B coorBercTBylOmIEi
N0CJ1e10BATE/ILHOCTH.

3aroJIOBKH1

A | SMS influences basic skills

B | Using contractions

C | Positive impact of technology

D | From a message to a trend

E | On the verge of global changes
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AHIIMHACKUHA A3BIK

10-11 kaaccnl

3amanus 6-10. [Ipociymaiite Tekct moBTopHO. s kax o u3 nstu yacreit (6-10) BeiOepute
BepHOe yTBepxkaeHue (A-C) u oOBenuTe COOTBETCTBYIOIIYIO OYKBY B OJlaHKe OTBeTOB. Jlis
KaXao0u yactu Bo3mMoxeH Toabko O/IUH BapuanT orBera. Ecnu B 01HOI yacTu BIOpaHo Oolee
OJIHOT'O BapUAHTA, OTBET HE 3aCUUTHIBACTCSI.

Ne 3aroJIoBKH

YTBepKIeHus

The use of abbreviations has negatively affected general

A literacy of children.
6 SMS influences basic B Modern students tend to write better than those of previous
skills generations.
c Writing rules changed 50 years ago with the invention of the
Internet.
A An example of the text message given by the speaker stands for
'l am late'.
7 | Using contractions B Text messages use abbreviations partially because they were
originally limited to 180 characters.
C | People tend to use short message service because it costs less.
A | Technological revolution destroyed the language.
8 Positive impact of B | Language used in emails has evolved from text messages.
technology
C | Due to multiple meaning some abbreviations lead to confusion.
Mobile companies had foreseen the success of text messaging.
9 From amessagetoa | B | Text messaging became widely used in 1993.
trend C Text messaging is used in different spheres of life: religion,
medicine, sport.
Text messaging has developed specific rules.
10 On the verge of B | SMS language is based on phonetic contractions.
global changes C 24-hour communication leads to the creation of a language

soup.
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AHIIMHACKUHA A3BIK

JIJEKCHUKA

10-11 kaaccnl

3apanus 11-20. B tabmmie auxe nanbl 10 npenokeHui ¢ BBIICICHHBIME CIIOBOCOYCTAHUSIMHU.
B natu HpCIIHO)KCHI/ISIX BBIICJICHHBIC CJIOBOCOUYCTAHUA BeprI, B IIATHU - OIJ_II/I60‘-IHBI. HquHTaﬁTe
MIPEIOKEHUS M, €CITM BBIJICIICHHOE ciioBocodyeTanue BepHo, Hanumute OK B rpade HanpoTus,
€CJIM OHO HEBEPHO — UCNMPABbTE €0 M 3aIUIIUTE Balll BAPUAHT. 3aCUUTHIBACTCS TOJILKO OJMH
WCIIPaBJICHHBIN BapuaHT. 3aJaHUe HE 3aCUMTHIBACTCS, €CJIM BEPHBIMH BBHIOpaHBI Ooyiee yeM 5
yrBepxkaenuil. IlepeHecure Bam 0TBeTHI B 0JIaHK OTBETOB!

YcToiiunBoe BoipaxeHne

Bawm Bapuant

0 | I've been suffering from a dull pain in my back for years. OK
The Coca Cola company has once paid a tremendously big price . :
00 L T high price
for not listening to their clients.
11 | I want to stop working when I reach the age of 55.
12 | I don’t like Sochi because it has moist climate.
13 The earlier you start to study a foreign language, the easier it is to
overcome the language barrier.
14 A lot of people don’t have a desk phone at home — everybody is
using their mobile phones.
15 We decided to take the initiative and planted all the trees without
our teacher.
16 Son, a good man always holds his promises. Now, do as you
promised!
17 | Persons factor often becomes a reason of plane crashes.
18 This forest is_deep and has no paths, you definitely can’t run
there!
19 Tomorrow I am meeting my friend’s parents — | really want to
create a good impression.
20 On the 10-th we have a repetition of the concert but the real

performance is on the 12-th.
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AHIITHACKHI A3BIK 10-11 kaaccnl

IIMCBMEHHAS PEYb

HAIIOMHUWHAEM!!! B paGoTe He 10/1:KHO ObITH YKa3aHUS HA AaBTOPCTBO.

BHUMAHUE!
3agaHue K 3TOH 4acTH BbIAaeTCs HA JONMOJHHUTEIbHOM JINCTE.
TpeOyiiTe BbIIaYH JONOJHUTEIBHOIO JIMCTA C TEKCTOM 3aJaHUSA
Y OPraHM3aTOPOB B aAyANTOPHH.

MeskperuoHajbHasi OJJMMIINAAA IKOJIbHUKOB «Bpiciast mpoda» 2016, 2 3tan 4



AHIITHACKHI A3BIK 10-11 knaccenl

MeskperuoHajbHasi OJJMMIINAAA IKOJIbHUKOB «Bpiciast mpoda» 2016, 2 3tan 5



AHIINHACKHA A3BIK 10-11 kiaaccwl

IIMCBMEHHAS PEYb

Imagine that you are a journalist who is writing an illustrated article. Decide what magazine
(target audience) do you write for and what topic you’d like to cover.

You need to use 6 pictures for your article (you can choose any 6 pictures from the table below).

Don't forget to:

think of a magazine (target audience) and write it down;
formulate the topic of the article and write a headline;
write an introduction (you do not need a picture for an introduction);

choose 6 pictures for your illustrated article, put them in the right order and comment on
every picture in 2-4 sentences;

e write a conclusion (you do not need a picture for a conclusion).

Total: 220-360 words.
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